C:# Ratio Wording Name:

Solve each problem. Answers
EX) Theratio of carsto trucksin aparking lot was 9:3. For every 3 trucksthere were Ex. 3 9
9 cars.

1) For every 2 dogs at the pet shelter there are 4 cats. What is the ratio of dogsto cats?

2) Theratio of Wii gamesto PS3 games Edward owned was 6:4. For every PS3
games he owned he had Wii games. K
3) At anicecream shop for every 8 chocolate cones sold there were 4 vanilla cones sold. &
What is the ratio of chocolate cones to vanilla cones sold? o

10.

4) For every 3 onions on aburger there are 7 pickles. What is the ratio of picklesto onions? || .

12.

5) At an orchard the ratio of green apples to red apples was 7:5. For every red apples
there were green apples.

6) Theratio of malesto females birdsin abird cage was 2:3. For every females
there are males.

7) During the class election the ratio of votes for Nancy to votes for Mike was 5:2. For every
votes Nancy got Mike got

8) At the carnival theratio of rides to games was 8:2. For every games there are
rides.

9) Inaneighborhood for every 6 old homes there were 4 new homes. What is the ratio of old
homes to new homes?

10) Inabag of candy for every 2 sugar pieces there are 6 chocolate pieces. What is the ratio of
chocolate pieces to sugar pieces?

11) At the the thrift store the ratio of long sleeve shirtsto short sleeve shirts was 7:8. For
every short sleeve shirts there were long sleeve shirts.

12) For every 8 hamburgers sold at the malt shop there are 3 hotdogs sold. What is the ratio of
hotdogs sold to hamburgers sold?
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Ch Ratio Wording Name: Answer Key

Solve each problem. Answers
EX) Theratio of carsto trucksin aparking lot was 9:3. Forevery 3 trucks there were Ex. 3 9
9 cars. § >4
2 4 6
1) For every 2 dogs at the pet shelter there are 4 cats. What is the ratio of dogs to cats? ) 84
4. 7:3
. .. 5 5 7
2) Theratio of Wii gamesto PS3 games Edward owned was 6:4. Forevery 4  PS3
gamesheownedhehad 6  Wii games. o 3 2
7 5 2
3) At anicecream shop for every 8 chocolate cones sold there were 4 vanilla cones sold. & 2 8
What is the ratio of chocolate cones to vanilla cones sold? o 6:4
10. 6:2
4) For every 3 onions on aburger there are 7 pickles. What is the ratio of picklesto onions? || . 8 7
12. 3.8

5) At an orchard the ratio of green applesto red appleswas 7:5. Forevery 5  red apples
therewere 7  green apples.

6) Theratio of malesto femalesbirdsin abird cagewas2:3. Forevery 3  females
thereare 2  males.

7) During the class election the ratio of votes for Nancy to votes for Mike was 5:2. For every
5 votesNancy got Mikegot 2

8) At thecarnival theratio of ridesto gameswas 8:2. Forevery 2  gamesthere are
8  rides.

9) Inaneighborhood for every 6 old homes there were 4 new homes. What is the ratio of old
homes to new homes?

10) Inabag of candy for every 2 sugar pieces there are 6 chocolate pieces. What is the ratio of
chocolate pieces to sugar pieces?

11) At the the thrift store the ratio of long sleeve shirtsto short sleeve shirts was 7:8. For
every 8  short deeveshirtstherewere 7  long Sleeve shirts.

12) For every 8 hamburgers sold at the malt shop there are 3 hotdogs sold. What is the ratio of
hotdogs sold to hamburgers sold?
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